

BUL TRADING CONSULT PAPER STRAWS









Why should you entrust the production of your paper straws to us?



Every straw produced is quality is being checked.



Paper, Paint and Glue we use in our production It disappears in nature in a very short time.



From our lowest circulation customer to our customers with the highest circulation We produce with the same satisfaction.



Un like most similar production
We achieve unique quality in special designs.
We use offset printing, which provides
All your ideas can be realized without limitations.



And most importantly, for you We believe in our work, our success depends on your success.



Main materials we use in production



GLUE: Henkel AQUENCE®

Dispersion glue, often referred to as emulsion.

It is an adhesive consisting of an organic binder dispersed in water.



PAINT: SunVisto Aquasafe

With the European directive to eliminate single-use plastic by 2025 compatible with SunVisto Aquasafe for direct food contact and is particularly recyclable and has a

much higher biodegradation capacity than traditional plastic straws

Suitable for use on paper-based straws



PAPER: White Kraft Paper

100% wood pulp, high quality, environmentally friendly, 100% biodegradable FDA and FSC approved.









Our Production Standards

Ø	LENGTH	GSM PAPER	FOLODING	CUT END	OPP PACKAGE	вох	PAPER WRAP PING
Ø 5 mm	10-33 cm	60+120+120	*	*	*	*	
Ø 6 mm	10-33 cm	60+120+120	*	*	*	*	*
Ø7 mm	10-33 cm	60+120+120		*	*	*	
Ø8 mm	10-33 cm	60+120+120		*	*	*	*
Ø 9 mm	10-33 cm	60+120+120			*	*	
Ø 10 mm	10-33 cm	60+120+120			*	*	
Ø 11 mm	10-33 cm	60+120+120			*	*	
Ø 12 mm	10-33 cm	60+120+120			*	*	

• Since the products in our catalog are photographs, the visible colors may be misleading. For your color selection in your orders, be sure to refer to our color codes on the side.

Our colors

BY-01
BY-02
BY-03
BY-04
BY-05
BY-06
BY-07
BY-08
BY-09
BY-10
BY-11
BY-12
BY-13
BY-14
BY-15



Our Paper Straw Patterns



Point Monochromatic Stars

Zig-Zig

Motives

Rhomb Small point

Spiral

Striped

Checkered





Spiral



SPR-BY-02



SPR-ES-03



SPR-ES-04



SPR-ES-05



SPR-ES-06



SPR-ES-07



SPR-ES-08



SPR-ES-09



SPR-ES-10



SPR-ES-11







Checkered





DML-ES-04



DML-ES-10



DML-ES-08



DML-ES-13



DML-ES-06



DML-ES-09



DML-ES-14



DML-ES-07



DML-ES-11

ECOPRO ECO-ORIGINADAME DISPOSANTE CONSUMANTES



Striped



SRT-ES-10



SRT-ES-15



SRT-ES-09



SRT-ES-03



SRT-ES-08



SRT-ES-12



SRT-ES-13



SRT-ES-05



SRT-ES-11



SRT-ES-04





Rhomb



ELM-ES-12



ELM-ES-08



ELM-ES-04



ELM-ES-02



ELM-ES-06



ELM-ES-13



ELM-ES-15



ELM-ES-09



ELM-ES-11



ELM-ES-07





Small point



MPT-ES-08



MPT-ES-07



MPT-ES-14



MPT-ES-14



MPT-ES-15a



MPT-ES-15



MPT-ES-04



MPT-ES-04a



MPT-ES-13



MPT-ES-03







TRK-ES-01



TRK-ES-08



TRK-ES-07



TRK-ES-14



TRK-ES-04



TRK-ES-02

Additional color in our products
You can choose from our palette.

ECO-DEGRADABLE DISPOSABLE CONSUMABLES



Point



PTY-ES-13a









PTY-ES-12













ECOPRO





YLD-ES-12



YLD-ES-15



YLD-ES-06



YLD-ES-02a



YLD-ES-08



YLD-ES-14



YLD-ES-11



YLD-ES-13



YLD-ES-02



YLD-ES-07





Zig Zag





ZZG-ES-08













ZZG-ES-05 ZZG-ES-11

ECOPRO ECO-DEGRADABLE DEFOGRABLE CONSUMABLES





MTF-Black Hearts



MTF-Bamboo



MTF-Princess



MTF-Cheers



MTF-Pumpkin



MTF-Black Cow



MTF-Happy Birthday



MTF-Red Hearts



MTF-Eat&Drink



MTF-Seafoam





Custom made paper straws with company logo

We can produce with company logos or slogans. Paper straws with a special design...









Gusseted Paper Straws



Angled Cut Paper Straws



Angled Cut and Gusseted Paper Straws

Packaging

Our products,

Ø6 up to: 24, 50, 100 and 250 pcs

Ø8 up to: 24, 50, 100 pcs

Ø8 up to: 24, 50 pcs

It is packaged in OPP or specially designed boxes according to our customers' preferences.

In addition, our products that will be preferred individually are packaged individually in white paper packages, with or without logo, by our automatic machines untouched by human hands.



Cargo information

PRODUCT	Size	Pcs. IN PACKAGE	PACKAGE Pcs. IN A PACK	Pcs. IN BOX	BOX SIZE mm	PALLET SIZE cm	BOX ON PALLET	HEIGHT
Paper straws	Ø6x195 mm	24	210	5040	400X300X430	80x120	40	2,30 m.
		50	120	6000	400X300X430	80x120	40	2,30 m.
		100	64	6400	400X300X430	80x120	40	2,30 m.
		250	24	6000	400X300X430	80x120	40	2,30 m.
	Ø6x240 mm	24	156	3744	400X300X430	80x120	40	2,30 m.
		50	75	3750	400X300X430	80x120	40	2,30 m.
		100	40	4000	400X300X430	80x120	40	2,30 m.
		250	16	4000	400X300X430	80x120	40	2,30 m.
	Ø8x195 mm	24	125	3000	400X300X430	80x120	40	2,30 m.
		50	64	3200	400X300X430	80x120	40	2,30 m.
		100	36	3600	400X300X430	80x120	40	2,30 m.
	Ø8x240 mm	24	100	2400	400X300X430	80x120	40	2,30 m.
		50	54	2700	400X300X430	80x120	40	2,30 m.
		100	29	2900	400X300X430	80x120	40	2,30 m.
	Ø10x200 mm	24	80	1920	400X300X430	80x120	40	2,30 m.
		50	40	2000	400X300X430	80x120	40	2,30 m.







Bul Trading Consult Ltd ,1407 Sofia,Post Office Box 24 Bulgaria www.bultrading.com

Tel: +359/899 634 115, E-mail:office@bultrading.com













